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QUESTION 1

Click the Exhibit button.

For a fully configured and functional IP fabric underlay as shown in the exhibit, how many external BGP
neighbors are expected to be in the established state for Spine 1?

A2

B.5

C.4

D.3

Correct Answer: C

QUESTION 2

Within a customer\\'s data center, one departmental server is transmitting all of its network traffic marked with an IP
precedence value of 6. The ingress switch must change this precedence before forwarding it to the rest of the network.

Which CoS feature would be used to accomplish this task?
A. multifield classification

B. rewrite rules

C. class-based forwarding

D. behavior aggregate classification

Correct Answer: B

JNO0-1302 PDF Dumps | JNO-1302 Practice Test | JNO-1302 Braindumps 214


https://www.geekcert.com/jn0-1302.html
https://www.geekcert.com/jn0-1302.html
https://www.geekcert.com/jn0-1302.html

VCE & PDF https://lwww.geekcert.com/jn0-1302.html
2024 Latest geekcert JNO-1302 PDF and VCE dumps Download

GeekCert.com

QUESTION 3
ToR-1-1 ToR-1-2
—_— —_—
—— r—
[ —_—
s —— —

|

Server-1

You are designing a data center where all your servers in each rack will be connected to two top-of-rack (ToR) switches
using Layer 2, as shown in the exhibit. You must implement a high availability solution that maintains link layer
connectivity to each server when one of the ToR switches fails.

In this scenario, which solution will accomplish this task?

A. VRRP

B. LAG

C. GRES with NSB

D. MC-LAG

Correct Answer: D

QUESTION 4
You are developing an automation strategy and have been given the requirements below.
The tool chosen must be supported by multiple vendors.

The tool chosen must not install a client on the networking devices.
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The tool chosen must support open standards communication methods.
Which tool satisfies the requirements?

A. Ansible

B. SLAX

C. Chef

D. Puppet

Correct Answer: A

QUESTION 5

You must implement high availability features in the design for a data center. Every network device in this part of the
data center only has one routing engine.

Which high availability feature should you use in this scenario?
A.NSR

B. NSB

C. graceful restart

D. GRES

Correct Answer: C
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